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QUESTION 1

In a Content Set Detail record, what are two possible statuses available for a particular content type? (Choose two.) 

A. CONNECTION ERROR 

B. INITIATED 

C. PROCESSED 

D. DOWNLOAD SUCCESSFUL 

Correct Answer: AB 

 

QUESTION 2

Your customer has US and German orders. How do you set up a User role with read-write access for US orders, and
only read access for German orders? 

A. Access can be controlled by using VPD profile along with External Predicates. 

B. Assign multiple User Roles while creating the user. 

C. Assign multiple User Role grants in User Role. 

D. Access can be controlled by using Access Control List and assigned to User Role. 

Correct Answer: C 

 

QUESTION 3

Which function cannot be performed by a Compliance Policy? 

A. Restricted Party Screening 

B. Trade Transaction Product Classification Lookup 

C. Assigning Product Classification to Item Master 

D. Compliance Rule Screening 

Correct Answer: C 

 

QUESTION 4

Which three options correctly define the need for Product Classification Code to be assigned to an item in GTM?
(Choose three.) 

A. to store the revision number of an item so that it can be printed in commercial invoices for creating customs 
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B. to use within a compliance rule to help determine if a license is required for shipping a specific item to a given
country 

C. to provide the information for customs filing or printing in documents 

D. to determine the value of the customs tariff for an item for calculating the duty to be paid for an item 

E. to store the dimensions of the item so that can be printed in shipping documents 

Correct Answer: BCD 

 

QUESTION 5

Your client has the following requirements: 

1.

 Order Releases will be obtained using integration. 

2.

 Multiple Order Releases will be bulk planned into shipment. 

3.

 The shipment should be screened for export compliance to check if a license is required and denied party screening. 

Which option will meet the requirements? 

A. A Trade Transaction has to be created using an Order Release before the shipment is created. The Trade
Transaction should be screened. 

B. The bulk plan logic should be modified to screen the Order Release just before the shipment is created. 

C. A Trade Transaction can be directly created using the shipment and can go through export compliance screening
and denied party screening. 

D. The shipment can be directly screened without creating a Trade Transaction. 

Correct Answer: A 

 

QUESTION 6

While setting up a compliance rule, your client finds out that certain information is required and there is no such field in
the GTM UI. Identify three ways in which your client can capture this information effectively in GTM. (Choose three.) 

A. User-defined Code 

B. Control Code 

C. Remarks 

D. Saved Query 
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Correct Answer: ACD 

Reference: https://www.oracle.com/webfolder/technetwork/tutorials/tutorial/cloud/scm/642-otm-wn.htm 

 

QUESTION 7

If you have just installed GTM, which domain would not be created by default? 

A. GUEST 

B. MASTER 

C. SERVPROV 

D. STAGE 

Correct Answer: D 

Reference: https://docs.oracle.com/cloud/latest/otmcs_gs/OTMCG/OTMCG.pdf 

 

QUESTION 8

Which two statements are true about the Product Classification assignment process for items? (Choose two.) 

A. Only the product classification with a status of APPROVED on the Item can be assigned to a Trade Transaction
Line. 

B. A supervisor can approve the product classification that is in CREATED status using the Approve or Decline Product
Classification action. 

C. When a product classification type and code are added to the Item, the product classification changes to the
CREATED status. 

D. Users can create their own product classification status instead of accepting what is present in the system. 

Correct Answer: BC 

 

QUESTION 9

For which three objects can you configure the out-of-box "Restricted Party Screening" UI action in the Screen Set for
performing Restricted Party Screening? (Choose three.) 

A. Trade Transaction 

B. Shipment 

C. Trade Transaction Line 

D. Party 

E. Item 
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Correct Answer: BCE 

 

QUESTION 10

Your client has the following requirement: 

1.

 Determine the product classification for a configure-to-order product based on a child-line product classification. 

2.

 The child-line product classification should be based on the component item\\'s product 

3.

 If any of the transaction lines have an encrypted product, the product classification at the parent level should be
different from the case when none of the child lines have an encrypted product. 

Which three setups are required to meet this requirement? (Choose three.) 

A. Develop Agent logic to find the parent product classification based on the child-line product classification. 

B. Link each child line to the parent kit line using a parent line linkage for the Transaction Line. 

C. Maintain the Encrypted Flag as a remark. 

D. Maintain the Encrypted Flag as a product classification type. 

E. Link each child line to the parent kit line by creating remarks for the Transaction Line. 

F. Configure Compliance Rules to find the parent product classification based on the child-line product classification. 

Correct Answer: BDF 

 

QUESTION 11
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Which two statements are true about a regime? (Choose two.) 

A. Bureau of Industry and Security (BIS) is a regime. 

B. In GTM, a regime can be defined as a set of rules or regulations. 

C. One country should have only one regime. 

D. One regime may apply to multiple countries. 

E. In the USA, Export Administration Regulations (EAR) is the one and only regime for Trade Compliance. 

Correct Answer: BC 

 

QUESTION 12

Based on the screenshot shown below, which two options are correct for Service Preference configuration? (Choose
two.) 

Latest 1Z0-995 Dumps | 1Z0-995 Practice Test | 1Z0-995 Exam Questions                                6 / 8

https://www.passapply.com/1z0-995.html
https://www.passapply.com/1z0-995.html
https://www.passapply.com/1z0-995.html


https://www.passapply.com/1z0-995.html
2021 Latest passapply 1Z0-995 PDF and VCE dumps Download

A. If the Data Version ID is not specified, then the system will throw an error during screening that Data Version ID
needs to be specified. 

B. At the most sixty-four words can be specified in Exclude Words. 

C. If the Data Version ID is not specified and if there is a Restricted Parties List with a Data Version with the "Current"
flag set, it will be used for screening. 

D. It is not mandatory to specify Agency Code. 

E. Exclude Words is used to specify words to exclude when ONLY "Dice" Match Engine is used. 

Correct Answer: BC 
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